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Population steady harvest model based on age grouping and

population increasing model

WANG Tao, TANG Jin
(Computer Science & Technology School,Anhui University, HeFei 230601)

Abstract: As single population harvest model doesn't consider population's age structure,different
age structure's species' breed rate and dead rate have obvious difference,so it is necessary to
discuss reasonable distribute project based on age structure. This paper is just under this
background and then present two different population steady harvest model. At last,we solve the
model and test the model.
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